PAYS 2220 Wﬂ

4 arowndS.
B.di = w7 f:r:a/i - 12 [E.dé
e c Jt
S S



PHYS 2228 MM_

\I‘,e‘ - & + TR

c
.«'(w-"f‘f??)

I =7, wej/ef.’

FwT :
rw\V, e = L + (wZL KR

&
f.uJ‘f
_Z(_l_ +:'w/\’): iw V, e
<
_ FwF
.Z_( F i r*wIQC) = s w(C Voe

I e = {.WC Vo
s < r'WIQC




s cwunrten? pn cercud _"Z-:/&(I‘,e

At +l) )

2 AL co-a[w'f + Mm.(wﬁéi]

£.2)
b ﬂ:aaaa %ﬁ
C = //1‘)0
a) Zz = /Q — ]
wC
= Z2Qg6 — I
2w x be x 1o
~ 2000 — 1 2653 0%’!'
b> "Lr‘ms " Vl‘m_ S
] 2/
s 1 2 &2 VA“&l

[(z 0oo) + (1653)1] r/zo'ﬂim

2000 —1 2453

i g = 2483 =% Y= 53"




év«’/yaﬁz Lori-en Wﬂ/ 1_0--'1 Vrms Ifmsms/

= fzo\w—% x,.ﬁ3éwn7gm5—3°
=2.60 wal

= .03¢é oo x 2002 Ao
= P2 wolls

%WWQ

VC(PMS) = It‘“m5 }-g )

<

= ki

=TS

w C

o= D 3L m;,g
27 xéo X /o'émﬁm
=_9¢£.5 socr&g

e) WWWWMM?

C

2o \.

= |
R B




Doellrncaye_isise

7

D\ [
NE

< 5

\E:’?'Z.:: /@02 M




g.3)

/080 %ﬂ

% R =
1
_Q,Qﬂ_ﬂz—’_’“ o fﬁa/ip
[. L: /m«z%ny
= = .
Ter
/. + ;(bdc___..’_
IQ hJL

q’
w=27x o nad/laec

/

.LZ. =
TET = . g i
o +’[?—77-x/0 PN — ; 3)

2T XIO X/C

J
=% . f v

/e

> lLais 2.930)
r + (2-93)°

= /5.3 + 125 J %“

o 7

J é,,qé w= 27 wio sadlwe :f'D—zTOT
2 4 W wuhew wC—_I =o.
T Wl

= /e

= joer=348 ok




~ . - —
8.5a) Cocillolion percod T % e

: ‘ 7= xlaBM.f//m
W MW _2_7_ o
% amM w“—(LC>/z

5 (é(‘)‘%_ = 877)4/03
=L -_-(6’77:(.103)2'
Le
- /
L (8/T><m3)1
= /
L0/ X (9,,!/03_)2
o=

/.éx(af:}w
D,amjﬂlyjy ) =5
b) w’tzé_é:'f‘d/o aec .
R

K. = )

+ 5 w/so

= 2 > -0/M

7/

3

=3
+ 5% 0 T mec

= Y0 aém_

<)\ aer oo ot g
el e acq of Loy

/Q ¥ 20O
/Q’ S
+ 12
= Lg% - Mo
b 7
Yo + /0

8)‘/0—3 w%



